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2008-09 District Competition

Match #4 (Tournament)


These questions are for use in the Virginia High School League’s Scholastic Bowl District Tournament  competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Tribes of these people included the Arverni, the Aedui and the Helvetii. One of their chiefs, Brennus, sacked Rome in 390 B.C. By the 2nd century B.C., they had been driven from the ‘Cisalpine’ part of their namesake region. By the mid-1st century B.C., their homeland was split into Celtica, Belgica, and Aquitania. Julius Caesar wrote Commentaries on the Roman conquest of what tribesmen who live modern-day France? 
ANSWER: Gaul(s) (prompt on ‘Celt’ or ‘Celts’)
2.
The origin of its name was supposedly a 12th century acronym coined during an anti-French rebellion. The Maxi Trials of 1986 and 1987 saw the first serious breach, in its homeland, of its code of Omertà (oh-mair-TAH). The Kefauver Hearings of the 1950s revealed the existence of its American branch. Members, known as ‘made men’ or ‘wiseguys,’ refer to it as simply ‘Cosa Nostra,’ or ‘our thing.’ What is this Sicilian-founded criminal organization? 
ANSWER: mafia (accept Cosa Nostra before it is said in the question, prompt on ‘mob’ or ‘organized crime.’) 
3.
Usually measured in kilojoules per mole, it can be solved for in the Clausius-Clapeyron equation by taking the natural log of pressure, subtracting a constant, multiplying by temperature and the gas constant, and taking the negative.  For benzene, it’s 31; and for water, 40.8.  Like the boiling point, stronger intermolecular forces increase it.  Name this amount of energy required to turn one mole of a liquid into a gas.

ANSWER: heat of vaporization
4.
This Indo-European language is the source of about half of the Maltese vocabulary. While Romanian is most similar grammatically, this Romance language is most similar in terms of vocabulary with Latin. Unlike other Romance languages, it has kept long consonants. What is this language spoken in Sardinia, Milan, and Rome? 

ANSWER: Italian
5.
Its CEO, Charles “Wick” Moorman, recently oversaw a 12,000-acre land conservation easement near Charleston, South Carolina. More controversial dealings of this company include the placement of an ethanol-transfer station in Alexandria, Virginia, and an intermodal station near Roanoke, leading Montgomery County to file suit. What is this shipping and transportation company with approximately 21,000 miles of railroad in 22 states, headquartered in Virginia?

ANSWER: Norfolk Southern Railway

6.
His mother was a Scots Shepherd and his father was a St. Bernard. The gardner Manuel stole him from Judge Miller’s estate in California. In his later life, he befriends Dave, Curly, and Sol-leks, and has to defeat Spitz in pitched battle. His human owners include mail carriers Francois and Perrault, inexperienced gold miners Hal, Charles, and Mercedes, and the experienced John Thornton. What canine is the protagonist of Jack London’s The Call of the Wild? 
ANSWER: Buck the dog

7.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the mode of 43, 97, 14, 97, 43, 67, 97, and 74, given that the mode is the most-frequently appearing number?

ANSWER: 97
8.
Like zirconium, it was discovered by Martin Klaproth in 1789, but was first isolated by Eugene-Melchior Peligot in 1841.  Its most common isotope has a half-life of 4.47 billion years and a mass number of 238, but a more useful isotope has mass number 235.  Name this radioactive element with atomic number 92 and symbol U.

ANSWER: uranium
9.
This city’s major streets include the Boulevard Ring, the Garden Ring, the Third Transport Ring, and the Automobile Ring Road. Its GUM (goom) department store is located in its chief business district, Kitay-gorod (kee-tay-GOH-rod). As of 2007, this city, the largest in the Central Federal District, had the most billionaires in the world, with money from oil and privatization creating the fortunes. Landmarks in this city include St. Basil’s Cathedral, Red Square, and the Kremlin. What is the capital of Russia? 

ANSWER: Moscow
10.
Supporting characters in this sitcom included Russian interpreter Harry Bentley, housekeeper Florence Johnston, and son Lionel. Its run ended in 1985 when lead actor Sherman Hemsley read about the cancellation in the newspaper. This spin-off from All in the Family was the longest-running American TV series with a predominantly African-American cast. In what sitcom are George and Louise, the title family, ‘movin’ on up to the East Side’ in a ‘deluxe apartment in the sky-y-y-y’?

ANSWER: The Jeffersons

11.
From the Greek for to transport and to stimulate, the first discovered one was Bombykol, which is used by female silkworms.  They may be responsible for the supposed McClintock effect and can mark territory, food trails, or cause sexual arousal.  Name this class of chemicals that cause behavioral responses in lifeforms of the same species.

ANSWER: pheromone
12.
In 1922, his predecessor suggested in a Testament that he be removed as General Secretary. He remained in charge, overcoming the Left Opposition and the Right Opposition, enabling his policy of ‘Socialism in One Country’ to become dominant. His domestic policy included possibly causing a famine called the Holodomor, launching the Great Purge, and implementing Five-Year Plans. Who was the ruler of the Soviet Union between 1922 and 1953? 

ANSWER: Josef Stalin
13.
This is the only object outside of Jupiter's orbit to be known to be volcanically active.  Visited only by Voyager 2, this is the largest moon in the solar system to have a retrograde orbit.  Possessing an axial tilt of 157 degrees, it was discovered a few days after its parent planet in 1848.  Thought to be a captured Kuiper Belt Object, this is what largest moon of Neptune, named for the son of Poseidon?


ANSWER: Triton
14.
Art critic Louis Leroy described this painting as less finished than ‘wallpaper in its embryonic state.’ It depicts an idealized version of the harbor of Le Havre in the morning; two ships are distinct, but the rest of the painting fades into blues and greens. The artist said, ‘it really could not pass as a view of Le Havre,’ as the title object is barely distinct from the morning clouds that surround it. What Claude Monet painting lent its name to an art movement? 

ANSWER: Impression: Sunrise
15.
In response to his son Lewis’ pleading, he wrote the prose work Treatise on the Astrolabe. Influences from Italian poetry can be seen in his poem Troilus and Criseyde. As an elegy for John of Gaunt’s wife, Blanche of Lancaster, he wrote The Book of the Duchess. This author of Parliament of Fowls is best-known for his frame tale of pilgrims visiting the shrine of Thomas a Becket. What Middle English writer penned The Canterbury Tales? 
ANSWER: Geoffrey Chaucer
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Who was executed on June 11, 2001, for masterminding the bombing of the Murrah Building in Oklahoma City? 

ANSWER: Timothy McVeigh
1B.
How many chromosomes are in a normal human cell?

ANSWER: 46
2A.
A low level of what neurotransmitter and hormone is linked to Parkinson’s disease?

ANSWER: dopamine
2B.
What country music legend paired with Dolly Parton in ‘Islands in the Stream’ and had a solo hit with ‘The Gambler’? 

ANSWER: Kenny Rogers
3A.
Who wrote Light in August and The Sound and the Fury? 
ANSWER: William Faulkner
3B.
Lake Tahoe is nestled within what mountain range that forms much of California’s eastern border? 

ANSWER: Sierra Nevada
4A.
Whose grandson, Wolfgang, recently retired from his position at the Bayreuth Festival, leading a power void in the management of the annual celebration of this German composer of Parsifal?


ANSWER: Richard Wagner
4B.
To a mathematician, it is the length of a vector. What four-letter word also describes something perceived as typical, such as having two children? 

ANSWER: norm
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Convert the fraction 7/8 into a decimal.

ANSWER: 0.875
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the volume of a cylinder with a height of 45 feet and a radius of 6 feet?

ANSWER: 1620 pi square feet
6A.
A step called the gancho, where one partner hooks a leg around the other, occurs in what dance that originated in Buenos Aires? 
ANSWER: tango
6B.
What grammatical error occurs when a comma is used to join two clauses without the aid of a conjunction? 
ANSWER: comma splice
7A.
In what novel does Bentley Drummle marry Estella Havisham?

ANSWER: Great Expectations
7B.
The Phillips curve states that lowering what rate causes an increase in inflation?

ANSWER: unemployment
8A.
The founder of the Ayyubid dynasty was what Muslim leader that fought against Richard the Lion-Hearted? 

ANSWER: Saladin
8B.
According to Newton’s Second Law of Motion, what equals mass times acceleration?

ANSWER: force
9A.
What Novel laureate is best-known for a thought experiment involving a feline that was in two opposing conditions at once? 

ANSWER: Erwin Schrodinger
9B.
Katherine Jefferts Schori is the presiding Bishop of what church notable for ordaining an openly gay bishop in 2004? 

ANSWER: Episcopal Church of the United States of America

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Solve for x and y.  4x plus 3y equals 34 and 2x minus 3y equals 8.

ANSWER: x equals 7, y equals 2 (can be said in either order)

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Reduce the fraction 48/112 into simplest terms.

ANSWER: 3/7
Third period, 15 toss-ups, 10 points each

1.
His posthumous works include his third piano concerto and the overture for The Storm. The patronage of  the widow von Meck enabled him to focus on composing full-time for the last decade of his life. He died in 1893, days after his Pathetique Symphopny debuted. Although he was not part of The Five, he shared their interest in putting Russian character into his music. Who composed the ballets Swan Lake and The Nutcracker and the orchestral 1812 Overture? 
ANSWER: Peter Tchaikovsky
2.
The need for its existence as a separate entity was argued in Federalist Number 43. Its location was established by the Compromise of 1790, whereby all Revolutionary War debt was assumed by the federal government. Its size was limited by the Constitution to ten miles square. It originally contained three cities, two of which were Georgetown and Alexandria. In 1847, Congress gave back part of its territory to Virginia. What territory was founded in 1790 as the nation’s new capital? 

ANSWER: District of Columbia (accept DC, prompt on ‘Washington’)

3.
Its specific type is used to measure rocket efficiency.  It is equal to the change in momentum and is measured in kilogram meters per second or in newtons times seconds.  Name this vector quantity that is the integral of force with respect to time and is represented with a capital J or I.

ANSWER: impulse
4.
She started writing for adult audiences with her 1998 novel Summer Sisters. She blames herself for the decline of the name ‘Ralph,’ due to its embarrassing mention in her book Forever. She tackled issues such as racism in Iggie’s House, bullying in Blubber, and menstruation in Are You There God? It’s Me, Margaret. What writer’s most recurrent character is Farley Drexel Hatcher, also known as ‘Fudge’? 
ANSWER: Judy Blume
5.
He created the character of Flapping Eagle in his little-noticed first novel, Grimus. He declared 2008’s The Enchantress of Florence to be his ‘most-researched’ book. August 15, 1947, was the birthdate of his large-nosed protagonist Saleem Sinai in Midnight’s Children. A 1990 film accused him of wanting to open casinos and nightclubs in Pakistan, thereby causing Pakistan’s downfall. What British-Indian novelist earned a death sentence fatwa in 1988 for The Satanic Verses?
ANSWER: Salman Rushdie
6.
This actor will be appearing in his fourth film alongside Brad Pitt; it is also his third film directed by the Coen brothers.  He has directed three films, including ones based on the lives of a former game show host named Chuck Barris and Sentaor Joseph McCarthy.  Cast as pediatrician Doug Ross on the series E.R., this is what actor, known for his portrayals of Bruce Wayne and Daniel Ocean? 

ANSWER: George Clooney
7.
To an electrician, this word refers to the loss of current from a conductor. To a computer programmer, this four-letter word refers to an error caused by not freeing memory correctly, causing eventual loss of memory if the program keeps running.  To a politician, it refers to a politician’s staff member giving out information without prior authorization. What word refers to the slow release of any substance, such as a steady drip of water coming from a faucet? 

ANSWER: leak
8.
This effect is responsible for keeping the western coast of Norway free of ice, even during the Arctic winter.  Fed by the Antilles Current, temperatures here can often exceed 27 degrees Celsius, creating favorable conditions for tropical cyclone development.  This is what warm water current affecting the climate of the US Atlantic Seaboard?


ANSWER: Gulf Stream
9.
Joseph Vacher was the ‘French’ one. Andrei Chikatilo was the ‘Rostov’ one. Gordon Cummins was the ‘Blackout’ one. Peter Sutcliffe was known as the ‘Yorkshire’ one after killing thirteen women and severely mutilating them. The most famous one killed Mary Anne Nichols, Annie Chapman, Elizabeth Stride, Catherine Eddowes, and Mary Jane Kelly in 1888. What word usually goes after ‘Jack?’ 
ANSWER: historic ‘Ripper(s)’

10.
The Roman emperor Galerius regarded her as a patron goddess. Caligula wore women’s clothing while participating in her mystery cult and bringing her worship from ‘Eastern cult’ to ‘respectable Roman religion.’ She was the daughter of Geb and Nut. In the Book of the Dead she is described as ‘she who gives birth to heaven and earth’ and ‘she who knows the widow spider.’ Her son Horus was conceived after her husband had been killed by Seth. What Egyptian goddess was the wife of Osiris? 

ANSWER: Isis or Aset
11.
They begin with a ritual statement known as ‘The Opening’ or al-Fatiha. They consist of one or more rituals known as raka’ah (rah-KAH-hah).  People undergoing these must face in a direction known as qibla. Called salah, what ritual in Islam is performed at dawn, noon, mid-afternoon, dusk, and nightfall? 
ANSWER: Islamic daily prayers (accept salah or salawat before said in the question)
12.
This poem was followed by the essay The Philosophy of Composition, which detailed the writing of this poem. Its topic was picked because, ‘the death … of a beautiful woman is unquestionably the most poetical topic in the world.’ Its title character sits on a bust of Pallas, overlooking the narrator, who is himself looking over volumes of forgotten lore. ‘Nevermore’ is the only word uttered by the title character in what Edgar Allan Poe poem? 

ANSWER: “The Raven”

13.
Its surface area is equal to its edge length squared times two times the square root of three.  Its volume is equal to one-third times the square root of two times the cube of the edge length.  It has twelve edges and six vertices and can be formed by joining the six midpoints of the faces of a cube.  Name this Platonic solid that has eight equilateral triangular faces.

ANSWER: octahedron
14.
His wife Floride (floh-REED) was involved in the so-called ‘Petticoat Affair.’ John Quincy Adams said, ‘He is above all sectional and factious prejudices more than any other statesman … with whom I have ever acted.’ Nonetheless, he argued for the doctrine of nullfication in his anonymously written South Carolina Exposition and Protest. The first Vice President to serve under two Presidents – John Quincy Adams and Andrew Jackson – was what South Carolinan? 
ANSWER: John C. Calhoun
15.
Similar to civets, their four living species include the aardwolf and the striped, spotted, and brown varieties.  Members of the suborder Feliformia, these carnivores are native to Africa and India, capable of digesting bones, and are usually scavengers or pack hunters.  Name this animal known for its laughing.

ANSWER: hyena
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Geoffrey of Monmouth had based him on the real-life Ambrosious Aurelianus and the woodland prophet Lailoken. Robert de Boron had him as the offspring of an incubus and a virgin woman, giving him the ability to shapeshift and foresee the future. He once advised his lord to put every newborn boy onto a boat after the conception of his master’s son Modred. Later legends added the Lady of the Lake, who imprisoned him after learning all his magic. Who was the magical advisor to King Arthur? 

ANSWER: Merlin
2.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the perimeter of a rectangle of width 12 feet and area 180 square feet, given that perimeter is equal to twice the width plus twice the length?

ANSWER: 54 feet
3.
A variable that is a three-digit number would be coded ‘PIC 999.’ (pick 9-9-9). A typical command might be ‘ADD MINUTES TO TIME.’ Programs contain four ‘divisions:’ Identification Environment, Data, and Procedure. Its 2002 standard introduced Boolean support and object-oriented programming, supplementing the 68, 74, and 85 standards. Grace Hopper is the ‘mother’ of what programming language, first developed in 1959, that remains in use in many business applications? 

ANSWER: COBOL
4.
Despite a near-win by Elizabeth May, this party’s Canadian variety was shut out at the 2008 federal elections. Its German variety was part of government with the Social Democratic Party in the 1990s. Their platform focuses on four pillars, including non-violence, grassroots democracy, and social justice. Depending on their positions on economic issues, they can be called either ‘blue’ or ‘red.’ What is this party associated in the US in 2008 with Cynthia McKinney and in 2000 with Ralph Nader? 

ANSWER: Green Party or Parties

5.
It ranks third all-time in NCAA Division 1 wins in men's basketball, behind Kentucky and North Carolina.  Its basketball arena’s namesake was its second coach, who took over following the retirement of Dr. James Naismith.  Alumni Danny Manning and Wilt Chamberlain received the NCAA Men's Tournament Most Outstanding Player award, along with 2008 recipient Mario Chalmers.  Coached by Bill Self, this is what 2008 NCAA Men's Basketball Tournament champion, nicknamed the Jayhawks?


ANSWER: University of Kansas (Do not accept ‘Kansas State’)
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